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Class:10th

Test:Math

Attempt ......... questions

" IfR o T and R=8 when T=3, find R when T=6  T=6£(//#*RIxT=32R=8 sRocT"/]

? Find x in the following proportions.
x-3 5 x-1 4
2 x-1" 3 x+4
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Ifyoc 1 and y=4 when x=3, find x when y=24 y=24.&{?u:/r;h"x3’ﬁx:3 —2y=4. Yo E /(l
X
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4 Ifasb=c:d (a,b,c,d#0), then show that
pla+b)+gbiplc+d)+qd=aic

> When R o¢ T and R=5 when T=R8 find the

equation connecting R and T also find T when

R=20
® Find a fourth proportional to: 5,8,15
" Find x, if 6:x::3:5.

8
If Voc R’ and V=5 When R=3, find R, when
V=625

Attempt ......... questions

' Using theorem of componendo-dividendo

. . x—6 x+6b .. 12al
Find the value of i (1 g0
xX+6a x-6b a-b
2If 9_ € _ € then show that
b d
ab+c’d+e’f a+c+e
ab® +cd* +ef* b+d+f
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